LaampPron

Power & force

Mogenb: DG3601E

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

No ApTuRYn HavmeHoBaHue K-Bo Ne ApTuRYn HavmeHoBaHue K-80
1| 402060700160 | Bont M6x70 3 17 | 302030200300 | BryckHoi knanan 1
2 302010310000 KpbiWwKa KnanaHoB KOMNAEKT 1 18 302030200400 BbINycKHOW KnanaH 1
3 302010300100 MpoKknagKa KpbIWKKW K1anaHoB 1 13 444080200120 LnunbKa KpenneHua raywmtens 8x20 2
4 | 302010210600 | Bont M8x45 2 20| 302030100500 | Taitka HusKan !
5 302010210000 Kopombicno KnanaHa KOMNAEeKT 1 21 302010200700 LLlaba nog npy»KMHy KnanaHa 2
6 302010201100 YNAoTHUTENbHOE KONbLO GOPCYyHKM 1 22 302030200600 Konnayek macnocbemHbliit 2
7 445060500120 LinunbKa KpenieHuns GopcyHKU 2 23 302030200500 Mpy»*nHa KnanaHa 2
8 448040008010 WTnoT 4x8 1 24 | 302030201600 Tapesnka KnanaHa 2
9 445060750120 LWnunbka M6x75 2 25 302030200100 Cyxapb KnanaHa 2
10 302030201400 MpoknagKa KonnekTopa 1 26 302030201600 Konnayek KnanaHa nog, KOPOMbIC/IO 1
11| 302030740100 | BnyckHoit konnekTop 1 27 | 302010201800 | LWai6a 1
12| 402060280160 | Bont M6x28 2 28 | 302011310002 | Waii6a peryamposounasn 1
13 019990008700 LinunbKa KpenaeHusa kopnyca ¢punbTtpa 1 29 302011310009 dopcyHKa 1
14 302030100600 lalika BblcOKas 2 30 302010200901 MnaTa KpenneHna GopcyHKU 1




LaampPron

Power & force MNNocTpMpoBaHHbIN KaTaior 3anacHbIX YacTei Mogenb: DG3601E
15 | 302030100700 | Laii6a 4 31 | 422060000120 | raiika M6 2
16 302030220000 lonoska unaMHapa 1




LaampPron

Power & force MANoCcTpMpOBaHHbIA KaTaior 3anacHbIX YacTe Mogaenb: DG3601E

e

.
Ne ApTuUKyn HaunmeHoBaHwue K-Bo Ne ApTuUKyn HanmeHoBaHue K-80
1 302010710000 Kopnyc ¢unbtpa Komnnekr 1 3 402060160160 lailka M6 3
2 302010710300 Bo3gyLwHbli GuabTp 1 4 302010700100 Mpoknagka 1




LaampPron

Power & force NnntocTpmpoBaHHbIN KaTanor 3anacHbIX YacTen Mogenb: DG3601E
) - ™\
.
Ne ApTuRYn HavmeHoBaHue K-Bo Ne ApTuRYn HavmeHoBaHue K-80
1 302030410000 MoplHeBoe KobLo 78 MM, KOMNIEKT 1 4 302030410400 Manewy, nopwHs 1
2| 302030410500 | CronopHoe konbuo 23 2 5 | 302030420500 | Brnagpiw watyHa 2
3| 302030410300 1 6 | 302030421100 | LaTyn, KomnnekT 1

MNopweHb




LaampPron

Power & force

Mogenb: DG3601E

Ne ApTuUKyn HaunmeHoBaHue K-Bo Ne ApTUKyn HanmeHoBaHue K-s0
1 448040008010 LWtndT 4x8 2 17 302011100104 MpyxuHa 1 1
2 302160100300 Lnunbka KopoTKasa 2 18 302051100100 Mpyxuna 2 1
3 302030101304 MpoknagKa ronoBKN LMANHAPA 1 19 302031101500 Pbiuar ynpasnenus THBA 1
4 302030100400 LWnunbka anvHHan 2 20 462081404200 CanbHMK ocK pbiyara 8x14x14 1
5 302030100800 MNpoknagka TonkaTenen 1 21 302011100201 LWarba 2
6 302030100100 Kaptep 1 22 464081410000 MoAWMNHUK UronbyaTbin 2
7 462304508000 CanbHUK KoneHsana DR30x45x8 1 23 302011100201 Waii6a 1
8 302031050004 Tonansonposog B/, 1 2 302030100200 KpbiwKa wyn 1
9 302011210001 TonaueHbIi Hacoc B/, 1 25 461019202400 Konbuo ynnotHutenoHoe 19,2x2,4 1
10 422060000120 laiika M6 3 2% 439160000101 YnnotHuTenbHan waiiba 1
11 302011200200 Mnata KpenneHna THB[, 1 27 302010101700 bont pna chuea macna 1
12 302011200300 Mpoknagka nnatbl 1 28 302051120002 KoHTponbHbIV 6onT 1
13 302011200100 Mpoknagka THBA 1 29 302010100900 MnacTuHa KpenaeHua NoAWUNHUKA 1
14 302010101200 Winnnbka kpennenus THB/, oanHHas 2 30 302160121000 BosayxoBsop, 1
15 302010101100 Linnnbka KpenneHus THB/, kopoTKas 1 31 302030160300 YnnoTHeHWe BO3ayxoBoAa 1
16 302011140000 MaHenb pblyaros 1 32 302011600500 CrapTep 3/1eKTpUYecKuii 1




LaampPron

Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

7

Mogenb: DG3601E

Ne ApTuRYn HavmeHoBaHue K-Bo Ne ApTURYn HavmeHoBaHue K-80
1 302030101603 KpblwKa KapTepa ¢ noAWUNHUKOM 1 20 302030600104 Pacnpepggan 1
2 448080012010 WTnoT 8x12 2 21 302030600200 LlecTrepHa pacnpeaBana 1
3 463620330001 MoawunnHmk 6203 2 22 521010010401 MopawunnHuk pacnpeagana 6206 1
4 302030500700 Ban 6anaHcupa 1 23 302010900600 LieHTpo6exkHbli perynatop o6opoToB 1
5 451005000710 LLinoHKa 5x5x7 1 24 302010900500 Tpybka nogaun macna 1
6 302030500900 LLlectepHa Bana 6anaHcunpa 1 25 302010102100 3arnywka Kpbiwkn Kaptepa D8 mm 3
7 463630750000 MoawnnHuk koneHsana 6307 1 26 461020002650 YnnotHuTenbHoe Konbuo 202,65 1
8 302030500600 LLlecTepHa NnpuBoAa Bana 6banaHcupa 1 27 302010920000 MacnaHbit dunbTp 1
9 302030523102 Konensan 1 78 402060140160 Bont M6x14 4
10 451005000710 LLnoHKa 5x5x7 1 29 302010101900 3arnywka 1
11 302030610000 TonKaTenb KnanaHa (wraHra) 2 30 448030018010 LTt macnoHacoca 3x18 1
12 451005001210 LUinoHka 5x5x12 1 31 302010911000 MacnoHacoc Komnaekr 1
13 302030500400 LLlectepHa npuBoaa pacnpeasana 1 32 461034501800 Konbuo ynnotHutensHoe 34,5x1,8 1
14 302030101500 MpoknagKa KpbIWKKW KapTepa 1 33 302010900301 KpbiwKa macnoHacoca 1
15 011020001200 Bknagpllw KoneHBana(BxoAnUT B KOMMAEKT 1 EonT M8x35

KpbILIKM KapTepa) 34 402080350180 16
16 302011100600 Tonkatenb perynatopa obopoTos 1 35 462304510100 CanbHuK KoneHsana DL30x45x10 1
17 451005001410 LLnoHKa 5x5x14 1 36 461019202400 YnnotHuTeNbHOE KosbLo 26x3,55 1
18 302010600300 Tapenka TonKaTensa KnanaHa 2 37 302030100200 KpbiwKa-Lyn 1
19 521030100201 UronbyaTbl NOALWMNHKUK pacnpeasana 1




LaampPron

Power & force MNNocTpMpoBaHHbIN KaTaior 3anacHbIX YacTei Mogenb: DG3601E

Ne ApTuRYn HavmeHoBaHue K-Bo Ne ApTURYn HavmeHoBaHwue K-80
1 319010100000 leHepaTop 3apagkn AKb 1 9 302031710102 Koxyx maxoBuka 1
2 302030510200 BeHeL, MaxoBuKa 1 10 402060220160 Bont m6x22 4
3 302030510102 MaxoBuk 1 11 431060001100 LWanba 6 4
4 302010500300 LWaiba 1 12 302011700400 BTynka 4
5 302010500200 lalika 1 13 302011700200 YNNoTHUTENbHOE KONbL,O 4
6 302030500100 CTakaH MaxoBuKa 1 14 402060080160 Bont m6x8 3
7 404060120120 BonT m6x12 4 15 302031410101 Craprep 8 c6ope 1
8 302011700300 YNNnoTHeHne Koxyxa 1




LaampPron

Power & force

Mﬂl’ll-OCTpVIpOBEIHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: DG3601E

Ne ApTuUKyn HaunmeHoBaHue K-Bo Ne ApTUKyn HaunmeHoBaHwue K-s0
1 304024019000 KpbiWwKa anbTepHaTopa 3awmTHasn 1 8 304030085000 3awwTa ctaTopa 1
2 304020019000 LLLETKY KON/IeKTOPHbIE 1 9 304034021401 BonT KpenneHua potopa M10x214 1
3 304026105000 Bnok AVR 1 10 204401416002 PoTop 1
4 304053000000 KnemHas konoaka 1 11 304022019000 KpbiLwKa reHepaTopa CTOPOHa ABuraTena 1
5 304038012500 bont M6x125 4 12 302010201500 Mpoknagka raywurtena 1
6 304023019000 Kpbiwka reHepaTopa ctopoHa AVR 1 13 307090240100 Inywwrens 1
7 204331405001 Cratop 1 14 2070300007 Perynatop 3apagku AKb 1




LaampPron

Power & force

Mﬂl’ll-OCTpVIpOBEIHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: DG3601E

Ne ApTuRYn HavmeHoBaHue K-Bo Ne ApTURYn HavmeHoBaHue K-80
1 307030230300 YKasaTenb ypoBHA TONNBA 1 17 307650240100 Mnowaaka kpenneHna AKb 1
2 307030230200 Kpbiliika TonANBHOrO Gaka 1 18 307020210100 Bnok oTkntoueHna THB/, 1
3 302011000400 dunbTp BcTaBKa Haka 1 19 307080210100 Tpoc oTkAto4eHus THBA 1
4 307030231103 BaK TonAnBHbIN 1 20 H/A Pama 1
5 301061100400 LLInaHr TONAMBHbIN 1 21 H/4 KpoHLWTEWH KpenaeHus onopbl pambl 1
6 H/A PUNLTP TONANBHBIA 1 22 311010004100 Onopa pambl 4
7 H/A KpaH TonamMBHbI 1 23 211071700100 Bubpousonatop asuratens 2
8 307150130159 Kpbilika BepxHAs 1 24 211070400100 Bubpowusonatop reHepatopa 2
9 427060000120 Faiika m6 2 25 2050201140116 | MaHenb ynpasneHua 1
10 307040250400 MnactuHa kpenneHua AKB 1 2% 305170530124 ABTOMAT OTK/tOUeHNs 23A 1
11 306000302100 AKB 18 AH 1 57 | 305160045302 BosibTmeTp 1
12 307040250300 Wnunbka kpenneHuna AKb 2 28 305022501601 Po3eTka 250B/16A 2
13 285061503002 Knemma noakntoveHma AKB 1 29 305260500101 3aMOK 3aKMUFaHMA C KIoYaMM 1
14 285061503003 Knemma noakntoveHma AKB 1 30 5013250620001 | BbinpamuTens 1
15 285070104008 MNposog, AKB YepHbIi 1 31 305495001001 Kopnyc naHenun 1
16 285070104009 Mposog, AKB KpacHbli 1




